EARAROBREBRT —5 XN—ZXBISH—F

20235108158 (B) 15@&R18

MM ROZE USR3IR

ECR IR

[RE$] 1 7% :4,000,00F  2#&:1,120,000H / 3&:

560,000 F 4 7&:400,000 § 5 7&:320,000 A

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
3 » " BHIER :27. -6-6- . - MR (&R
1 3| /T /ERT Y Y # 3 | BAER 1(2_7)6 7-66-2 | 37.1 2 (4+663) E?}Eg
RIRAVRIATERT Y B:RARTA—Y #wE Al
T SHREA :28. E5R5x . - R (&R
2078 | NTYYN=R "3RS 1(24%4 SR ’ (4_965; Pl
RINTYYL—Y BNTHIHT— B B
3y 4 3 | DEREth 1:28.6 1-1-1-1 | 38.1| - 9 435 | NERE (@R
3810/ 7U7—Va 5.0 i © | ) 27=2bevsy
R:I4 I RD=ILEY B:VIUN=T+— B EEEGN R IAT RS
. N~ = s~ FEREAT : -9-8- - k@R (&R
4l 1)1 |FAPEYRS Y 3 | FR 1(.32/84.)8 9-9-8-8 | 36.5 1 (4_14&; [l
RiVAVR—S(Y B:SRYI—IUh & IE
[ S S TR :29. -4-4- . - EH—E (&R
S : NECEEEYEEY "3 ERO | e i e
RhE—RO—F— BEEYRILAL a5 BHER
“ 3 3 KExl 129. -10-10- . - aEke (&R
6 5 | R RVaEY # 3 | XA 1(}%3_? 10-10-10-10| 36.3 7 ‘:3)7 el 2
RiPAUAYRA NUAY N 8BSy RYTY—OEY F—U— - Iv/\ - T7—LBRR
v ¢ IR EZA 2 Vi 3 | EEER 1( 92?:? 6779 [36.8| — | 10 (4_657) %gg% @R
RIIRTVFUY BiZY/ADYR L]
o~ N3P o~ 4 3 | NEEAIS 1:29.2 8-8-9-6 |36.5| -— 6 416 | NENE (&R
85| E-7t>ay 54.0 (3/4) Cn | @ Fr-ZhEevay
R:F4RAIU—rFrv s B:TLAT7VTS NT VRIS
= # 3 | BEHAA 1:29.3 1-2-3-4 |37.9| - 8§ | 416 |PIHEZ &R
9|7|7|2FV 747 54.0 (72 ) | B Tekms
RiME—Ra—F— B:YLAITI—Ib FARBRERHIS
o, # 3 | LWhEFE 1:30.4 3-3-2-6 [37.8| — 5 491 | HiE—th &R
10189 |/N\VT1—h 56.0 () (-10) | REE—_()
RIARASKRI—9 #B:Vau—gR9-X FATUVRNIST
@ 11— —BERIEI
13—7F— (7,10),9,4,8,6,3,5,1,2
20—7+— 10,7,9,4,8,3,6,5,1,2
30—7F— 10,9,7,4,8,3,6,1,5,2
40— — 10,3,4,7,8, (5,9),1,6,2
o ILRE
BB 3 4208 | [ 94K 3-8 4304 & 3-7 1,540 3ER 3-8-10 30,810
B B 3 180M9 3-10 4,160M B 3-7 3,450 3Es 3-8-10 68,550M
8 2304 8-10 3,960M 5 & 3-8 1,680H4
10 1,620 Ba 3-8 3,950

ABIC OV TRUTEREERRODDZE. THRIIZEL.




